PSSA and Keystone Exams

Summer 2023 Workshops

PSSA, Grade 8
Math

Justin Joins a Gym

Handscoring
Practice Set 2

*Responses in this set do not have true scores. Apply scores based on
scoring criteria.
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| MATHEMATICS SECTION 2 )

51. Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y=10x + 5,

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?
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The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20,

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?
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- MATHEMATICS SECTION 2

51.  Continued. Please refer to the previous page for task explanation.
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Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (=3, -25).

C. Why is the point (-3, -25) not a possible solution in this situation?
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- MATHEMATICS SECTION 2

51. Justin is joining a gym. The gym is currentiy offering a discount on the fee to join and
on the monthly rate.

| The discounted price, in dollars, the gym charges can be represented by the
| equation y = 10x + 5.,

A. What are the slope and the y-intercept of the equation? What do the slope and |
the y-intercept each represent in this situation? ‘
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| The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20,

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?
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o MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.,

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (=3, =25)..

C. Why is the point (-3, =25) not a possible solution in this situation?
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MATHEMATICS SECTION2

. Justin is joining a gym. The gym is currently offering a discount on the fee to join and

on the monthly rate.

The dtscounted price, in dollars, the gym charges can be represented by the
equation y=10x+ 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?
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The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20,

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?
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MATHEMATICS - SECTION 2

51. Continued. Please refer to the previous page for task explanation,

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (=3, =25).
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C. Why is the point (-3, —25) not a possible solution in this situation?
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MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?
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The regular price, in dollars, the gym charges can be represented by the
equation y = 16x + 20,

| B. How much money, in dollars, does Justin save the first month by joining the gym

at the discounted price rather than at the regular price?
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MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

P2-4

“Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, =25).

C. Why is the point (=3, -25) not a possible solution in this situation?
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MATHEMATICS SECTION2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y=10x+5,

A What are the slope and the y—mtercept of the equation? What do the slope and
the y-intercept each represent in this situation?
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The regular price, in dollars, the gym charges can be represented by the
equation y = 156x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?
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- . MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, =25).

} C. Why is the point (-3, —25) not a possible solution in this situation?
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[ MATHEMATICS SECTION 2 =

51. Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?
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The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?
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[ MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, =25).

C. Why is the point (=3, =25) not a possible solution in this situation?
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b= MATHEMATICS SECTION 2 |

51. Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5.

A. What are the slope and the y-intercept of the equation? What do the stope and
the y-intercept each represent in this situation?
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The regular price, in dollars, the gym charges can be represented by the
equation'y = 15x + 20,

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?

A VONE =BT
‘: 1§ tH5 11153%20
\f:b _?%3 JUSHN SoNED 03NS,
20



csloan
Text Box


PSSA Math: Justin Joins a Gym (Grade 8); Practice Set 2

P2-7

- MATHEMATICS
51.

SECTION2 -

Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, =25).

C. Why is the point (=3, =25) not a possible solution in this sifuation?
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51.

MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

equation y=10x + 5,

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?
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The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?
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| MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B, The solution to the system of equations is (-3, —25).,

C. Why is the point (=3, ~25) not a possible solution in this situation?
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51.

MATHEMATICS

on the monthly rate.

SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and

P2-9

ARSI

The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5.

A. What are the slope and the y-mtercept of the equation? What do the slope and
the y-intercept each represent in this situation?
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The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20,

I B. How much money, in dollars, does Justin save the first month by joining the gym |
at the discounted price rather than at
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- MATHEMATICS SECTION 2 -

51. Continued. Please refer {o the previous page for task explanation.

N = ——— e e
Justin creates a system of equatlons based on the equatlon from part A and the
equation from part B. The solution to the system of equations is (-3, -25).

C Why is the point (=3, -25) not a p)33|ple solution in this sﬂua lon?
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51,

The discounted price, in dollars the gym charges can be represented by the

MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

equation y=10x+ 5,

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?
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The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?
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- MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, =25).

C. Why is the point (=3, =25) not a possible solution in this situation?
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PSSA Math: Justin Joins a Gym (Grade 8), Practice Set 2

PRACTICE SET 2*
Subject: Math Item: Justin Joins a Gym Grade:8

Name

Number |[Score Consensus Notes

P2-1

P2-2

p2-3

P2-4

P2-5

P2-6

P2-7

P2-8

P2-9

P2-10

* Responses in this set do not have true scores. Apply scores based on scoring criteria.



jkobe
Text Box
PSSA Math: Justin Joins a Gym (Grade 8), Practice Set 2


	Q2-1
	Q2-2
	Q2-3
	Q2-4
	Q2-5
	Q2-6
	Q2-7
	Q2-8
	Q2-9
	Q2-10
	Blank Page



